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mB 44X Bl | - AR IRITENM fifi4% [LES
=g A 6/ =8 5kg 5 kg 950 EE
= g DA 12 =5 5kg i kg 900 EiE
=g A 8 i don] 5kg 5 ke 850 EE
= g DA 102 EEdrl 5kg i kg 800 EiE
71 6/7kg =5 1A i kg | 1,350 EBE
7Y 6/7kg GEdon) 1A 8 kg | 1,350 EiE
1) 8kg #mE 1A 8 kg | 1,450 EE
Y 6/7kg M) 1A i kg | 1,350 EE
Ao<4 o Tkg 1]} 1A & kg | 3,500 EE
ES<Y 7/8kg RIG 1A ) kg | 1,800 EiE
HI5 3kgEd oL 1A & kg | 3,800 EE
£ B 6/E FE #95kg 78 kg | 3,900 £
huA 4kg =5 1A & kg | 1,950 # AIRE
TH 4/6kg i 1A 4 kg | 2,000
24 2/3E ' 4/5kg = kg | 1,600 EE
ghLA 3/48 ' 3ked #a kg | 1,600 EiE
iy 102 FEE P P | 1,500
ER2ILAH 212 = P P | 1,400
RAILKRZILAH =W 330g P P | 1,800
RAIVKRZILAH EE 300g P P | 1,200
LL& 518 1kg P kg | 1,400 ASER:
N\T45) 60/80g FE 1kgBifi kg kg | 2,300
= #3300¢ dbiEE & kg | 1,900
HA3LE 400/500g Z50 & kg | 2,600
w75 20/30g dbiEE & kg | 2,300
HyJR 20/40g tiEE & kg | 2,200
BHE 80/100g dbiEE & kg | 1,800
BEN/E 30/50g FE & kg | 1,900




